Chrysler Corp. is responding to an advertisement by Toyota, which claims that its compact version gets much better gasoline mileage for in-city driving than any U.S. made car. Below are the results of surveys conducted to test the claim. Perform the appropriate test at the 0.01 significance level. Do you reject or fail to reject the claim? 

	Toyota
	Chrysler

	N1 =30
	N2= 30

	X1-bar = 24
	X2-bar = 22.9

	S1^2 = 91.28
	S2^2 = 169.3


a. Fail to reject

b. Reject

c. Not enough information 


d. Do not know

